First Algebra
Background:
A ferry running between Sydney and Tasmania can transport people, goods and vehicles. The fare for a car is depending on the number of passenger in the car excluding the driver. The price for the transportation of a car is $10. The price for transporting each passenger in a car is $3. The maximum number of passengers is 5.

Requirement:
To establish a formula to determine the fare of a car.

Solution:
The fare of a car = 10 + 3 TIMES the number of passengers

=>
The fare of a car = 10 + 3 X the number of passengers 

Your Task:

Since the formula is too verbal, it may not be convenient should it become more complicated. Therefore you have to CREATE 2 symbols to represent the two phrases: “The fare of a car” and “the number of passengers”. 

You can USE or CREATE any SYMBOLS other than Arabic or Roman numbers.
